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---- footer

parser = calcp.new aAXURSAVEIHD1ER 1
begin /
if ARGV.length>=1 th T
fname = ARGV[O] FIF—NrDTFA LS
i / I7AIVE — T DNELFES

fname = 'test'

end T "
File.open(fname) {|f] S, BREL

parser.parse(f)

rescue NoMethodError, ArgumentError, Parsegrror

print $!, " at Tine #{parser.lineno}", "¥n" def parse(str)
end @q =[]
lineno = 1
# BAR

NS =[— = =3
T7AIDEFTEDHDEIIZLELH(2) EEDRERE
T def parse(f) a=0
- b=0
gﬁn;n[g =1 target: exp { @result = result } \ if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
| /* none */ { @result = result = 0 } ;:0
f‘ﬁ?l:hssr?p!”ne‘ def lineno T%E;EEI il;:althen if b then c=0 else c=1 end else if b then c=2 else c=3 end end
pon 2o gy | | “ineno
uz’g;grlm:]:mpw end if; then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
a=1
#BAR b=1
if a then if b then c=0 else c=1 end else if b then c=2 else c=3 end end
end ‘
line = $' i
end =>0 =>1
@gq.push [false, '$end'] =>0 =>0
do_parse et =1
puts( "=>"+@result.to_s ) =0 :i
@lineno += 1 f>§ =>1
en‘;"d =2 e BROHERSTE
rule
=4 _t target
EIH:H EE I | exp
<5 | Texp
= S
& REXDEAL, BRI,
E IBAL(Z: :%i Texp: exp '==' exp { result = (val[0]==val[2]) }
@ @%]LLL( ’j:‘ i | exp '!=" exp { result = (val[0]!=val[2]) }
 BffEEFLY5E0 | exp '>=" exp { result = (val[0]>=val[2]) }
| exp '<=' exp { result = (val[0]<=val[2]) }
| exp '>* exp { result = (val[0]> val[2]) }
L . L 1 : | exp '<' exp { result = (val[0]< val[2]) }
® 1=1=. mEXERONIFAAZITTRAN | Texp '8&' lexp { result = (val[0] && val[2]) }
o [ | lexp "||" lexp { result = (val[0] || val[2]) }
6._};[;3’60 | "1 Texp { result = !I'( val[ll) }
| (" Texp D! { result = val[1] }
| TRUE {result=true}
I

FALSE {result=false}




BNTIELDFELD, .

prechigh

|||||

nonassoc '==' "l=' '>=' '<="' '>' '<
nonassec. " } BHBLECHIEM
preclow

@q.push [$&, S8 MR FEDHTLEEM

when /¥A(&&|¥|¥
@qg.push [$&, $&]
IRT—TREDELDT.

XFELTDtHE

when /¥A(==|>=|<=|1=)/ }

DR EIBTY A, print CHLWLEZLDT

args : { result = [] }
| exp { result = val } # result = [val[0]]
| Texp { result = val }
| args ',"' exp

{ result.push( val[2] ) }

$ ruby calcll.rb iftest4
a=-1-b=1

a==b

a=1b=10

al=b

a=1b=1

a==b and b==1
a=1b=1

not l!a==b

a=1b=1

not !(a==b and b==1)
true

f7zLicy
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@ intp.y ZEINLTHTLIES WY, ZLTRDFERR
EREFXLTTILY,
s OAXVRSAUMSIFAINLBEFRLLSICLTTSLY,
= if then else end DEXNERITISESZLEEFIL
TWET, —1THIZZENTEEVESIZLTTELY,
s (LUEFEMNET) REFEN)ZFEALTZELY,
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